Haryana Staff Selection Commission
Morning Session , 28 Oct 2017
Post :- Assistant Sanitary Inspector

Which of the following are physical
components of environment ?

(1) water, soil, wastes, radiation

(2) plant and animal life

(3) customs, culture, habits, income
(4) economics, funding, money

ffaf@a & § fi9 & 99w &
#ifas aes § 2

(1) et f&EY, 3mafrse, fafesor

(2) o 3T aer Siteer

(3) Rarer, @e&hia, Jimed, 3

(4) 3rvemw, AT, e

The definition of safe and wholesome
water includes all of the following,
except

(1) free from pathogens
(2) not usable for domestic purposes

(3) free from
substance

(4) free from colour and odour

e AN Tawy o= & afem A7
=faf@a & @ e & 3emar gal
AT &

(1) IeTSTeTent & HFT

(2) oo TS ¥ T A

(3) gifeeRes TaRfE Jerd & FqFd
(4) W3R o & qFT

harmful chemical

How many litres water per capita daily is
considered as an adequate supply to meet
the needs for all urban domestic purpose ?

(1) 50-100litres  (2) 100-125 litres
(3) 150-200litres  (4) 250-300 litres
Tl el T S T ST Hr
o H & faw e gfa afea frds
fex Sor T gaied gl A S g 72
(1) 50-100 faex  (2) 100-125 farex
(3) 150-200 ReX  (4) 250-300 foreX

4,

According to RNTCP, a person with any
of the symptoms and signs suggestive of
TB including cough >2 weeks, significant
weight loss, Haemoptysis and any
abnormality in chest radiograph is called
as

(1) presumptive extra pulmonary TB
(2) presumptive pediatric TB

(3) presumptive pulmonary TB

(4) presumptive DRTB

ARCAE AR, (RNTCP) & IR,
afda & T.B. &1 s oY UF S&Tor a1
Thd S 2 gFd aF FF aron @i,
gl # we@, gAm AR BrEr
WA & frelt meegar &t &ar
e § ?

(1) wenfaa sfaRea poped e
(2) wTenfag srarafecar &

(3) wenfae popdia L.

(4) HHTIATDR TB

A TB unit under RNTCP is established at
the rate of one per

(1) 5,00,000 population

(2) 2,50,000 population

(3) 2,55,000 population

(4) 3,00,000 population
IRTAAA.D. (RNTCP) & dgd el
e Y O W T AR d
fd § |

(1) 5,00,000 STHEEAT

(2) 2,50,000 STFHEAT

(3) 2,55,000 SFAHEAT

(4) 3,00,000 SHEEAT



The Infant Milk Substitutes, Feeding
Bottles and Infant Foods Amendment
Act was passed and came into action
since

(1) 1%January, 2001

(2) 1% January, 2002

(3) 1%January, 2004

(4) 1% January, 2005

Rr & U & fwed, g@ 9 A ded
AR Ry R Feee fRfEE oRa
frar s R 3@ RO & FEEE &
3T

(1) 1 S=1adr, 2001

(2) 1 SeTadl, 2002

(3) 1 S=Tad, 2004

(4) 1=, 2005

The Infant Milk Substitutes, Feeding
Bottles and Infant Foods Amendment
Act was aimed to achieve one of the
following goals by 2007 :

(1) improving safe deliveries
%(2) reduce prevalence of severe under
nutrition in children

(3) improve the vaccination rate in the
children

{4) reduce infant mortality rate
if%ﬁe;a,@rasﬁaw,a@thﬁaﬁraﬁaﬁ
R Ry IR wiud AfREEE @@
;2oo7a$ﬁm'a&-eﬁﬁf~rtraaaﬁm
el T 36T AT ¢

(1) T wa & gurR

(2) weat # AR FHUNOT FOTER HA
: LT

(3) seETH aamwaﬁgaﬁ

(4) RRIFE &T HT FH FEA

10.

11.

An arthropod or any living carrier that
transports an infectious agent to a
susceptible individual is called as

(1) vector (2) virus

(3) bacteria (4) fungus

s 3gfaE ar F1g o Shfda aws S
HehFHeh UTole &I Haar oAfdd #
TYEAART T §, 38 &gl A1l &

(1) ragH (2) fawro

(3) Sfrarg (4) ®aw

The vertebrate type of vectors are
(1) mice, rodents, bats

(2) flies and mosquito

(3) fleas and cockroaches

(4) ticks and mites

FATHT THR & WA §

(1) 9g, Fedh, TAINCS

(2) #fegar iR A

(3) Ry 3R foerae

(4) fesr ik sl

Cholera disease is caused by the
(1) V.cholerae

(2) human immuno virus

(3) S.typhi

(4) human papilloma virus

¥ T FT FRT §

(1) @ @R

(2) e s AR

(3) v T

(4) TgFeT YT IRy

The incubation period of the cholera
disease is

(1) 15-20 days (2) 10-15days

(3) 5-10days (4) 1-5days
¥ Qor T Iga A §

(1) 15-20 &= (2) 10-15fe=t
(3) 5-10f= (4) 1-5fe=



12.

13.

14.

The primary health-care level is

provided by the agency of

(1) multipurpose  health
village health guides

(2) community health centres

(3) specialized dottors and nurses

(4) practioners and regional hospitals

grIfAe TERd | g werEr

EaNT Y&TeT T St § 2

(1) Sgeqeh T Hiah, a Ty

workers,

amgs |
(2) WEETRT W e
(3) faRw= sieest 3Rk aat
(4) Rfrcae! AR IERF TETarar

Probability of dy‘in1 between birth and
exactly one year of age expressed per
1,000 live births is defined as

(1) under five mortality rate

(2) infant mortality rate

(3) maternal mortality rate

(4) child mortality rate

SeH IR FeH F TH qA & d9 A
AT T Heger @ i 1000 Sfad
S F w9 F g fRar T
(1) dfg & 3l Hcg &

(2) Rw[ Fg €T |

(@) AT R

(4) SEHG X

The sub-centre should be established on

the basis of the populationi.e.,

(1) one sub-centre for every 5000
population in general

(2) one sub-centre for every 3000
population in general

(3) one sub-centre for every 2000
population in general

(4) one sub-centre for every 1000
population in|general

SATEEAT & AR (W 3Yehog I AT

e =BT, TAT

(1) FFT T ¥ %cds 5000 3f€mEr
¥F foT H

(2) AT § § YcAe 3000 3ETET
& T Uh 3HFe

(3) WAWT & § Ucdd 2000 3METET
& T U 3FE

(4) AT T F TAF 1000 3ETEr
& fav & 3uFes

15.

16.

17.

Following are the functions of the sub-
centre, except

(1) maternal health care

(2) adolescent health care

(3) water quality monitoring

(4) surgery of caesarian

RR@d & d F 3G d FY
TRl &

(1) A FEreg e

(2) FreR Tarem g@sTe

(3) Gt Y IOTECAT P A

(4) HroREs gl

The ante-natal care is referred as the
care of the woman

(1) before pregnancy

(2) during pregnancy

(3) after pregnancy

(4) after puberty

YEI-d ST FI AfAr H L@
& ¥ 7 wefia fear s §

(1) IaET & gl

(2) TR & SN

(3) reNaEET & dE

(4) FTART & T

From following which is the high risk

case to be identified during ante-natal

care?

(1) short statured primi

(2) age of 25 years

(3) nausea and
pregnancy

(4) malaise during pregnancy

PRd ¥ ¥ FA W e

@ & N feme arenm 3T@ @A

& ATHA § ?

(1) B IHR F HA

(2) 25FTel & I

(3) wrsTaET & R Fden 3 I

(4) FTsaET & SR FIOTAT

vomiting  during



18.

19.

20.

Number of live per births per 1000
women in the reproductive age group in
a given year is called as

(1) general fertility rate

(2) general marital fertility rate

(3) age specific fertility rate

(4) total fertility rate

U a¥ & yoete 37 THg H 9 1000
Afgen3t & garr gfa S=H r shfadr
& FEIT A FEd ©

(1) =g o &

(2) aHT daIfgs Totelel a3

(3) 3 fafdrse gaeteT &3

(4) T IS ST

The percent of eligible couples
effectively protected against childbirth
by one or other approved methods of
family planning is called as

(1) couple protection rate

(2) couple fertility rate

(3) family planning rate

(4) total fertility rate

URaR A= & AT TF a1 3T
alel zarT sedl & Few & faeg
gl ® ¥ WiEa ey 2_131?4’? T
gfaerd Fgellar §

(1) Zore g &

(2) Ferer goeter &X

(3) dRER AAsE &

(4) Fo gt ET

The beginning of the school health
service in India was in year

(1) 1906 (2) 1907

(3) 1908 (4) 1909

AR # Fhol ey AT & B3I
U A H§S

(1) 1906 (2) 1907

(3) 1908 (4) 1909

21.

22,

23.

Juvenile delinquency is defined as

(1) a child who has committed an
offence

(2) achild who has a higher 1Q

(3) achild who has a lower 1Q

(4) a child who has a good behaviour

Rl 3rRTer F 3@ ®T FH qReniRT

o I §

(1) Uus soar e 3y IR famar
gl

(2) w Fear Edr 3= gfg afew g

(3) ww sewr fowdr gfig afsa &A
g

(4) v sear fweT SgaER IO § |

The term AIDS stands for

(1) Acquired Immuno  Deficiency
Syndrome

(2) Anti Immune Deficiency Syndrome

(3) Active Immune Deficiency
Syndrome

(4) Assured Immune Deficiency Virus
AIDS &7 Q1 1 &

(1) vaaEs s&ga fShfad= fegs
(2) wrgeEge AR g
(3) vfeca srga FEhfEdwd g
(4) wEES 3 BRI agvE

The mode of transmission of HIV virus is
all of the following, except

(1) sexual

(2) blood contact

(3) maternal to fetal

(4) droplet

TT S & aRRE & HWOT H e
ffaf@a oo € aw & &

(1) ==

(2) =FaTIH

(3) F oqor H

(4) foegh




24,

25.

26.

27.

For screening of cancer of cervix, one of
the following test is done :

(1) westoblottest (2) pap smear test
(3) ELISA test (4) widal test
TRy AT AT & FHeaw Hr BhifAT F
v Gfaf@a & & e deror far
G

(1) FEr=dic cee

(2) WER ST

(3) ufomreee

(4) fastereee

The originator of the message in
communication process is called as

(1) sender (2) receiver

(3) channel (4) message
TUR 9RpAT & WA & Jacaid Hl gad
ST ST § -

(1) 9w (2) Rdrax

(3) d=a (4) =

The audience, which may be a single
person or a group of people in
communication process is called as

(1) sender (2) receiver

(3) channel (4) message
&, S U & sufFd Im A F OHHE
g Tl &, F HOR uhRar F R &
H AT ST B ?
(1) 9w

(3) derer

(2) R
(4) Geer

The presence of free residual chlorine
for a contact period in water to kill
bacteria and viruses must be of

(1) 1hour (2) 2 hours
(3) 3hours (4) 4 hours
Shrarey R fawop & #ARA & fow g=
¥ dus aEf F v FFa @l

FollieT 1 3ufEfa g arfge
(1) 1der (2) 2dHe
(3) 3¢ (4) a8c

28.

29.

30.

The determination of both free and
combined chlorine in water with speed
and accuracy is called as

(1) widal test

(2) ultraviolet radiation

(3) orthotolidine-arsenite test

(4) orthotolidine test

Ay AR aReear & @y 9= 7 g
A g A A & FeRer A
T STl &

(1) fasereee

(2) e fafeor

(3) sirferfosEa 3mdarse cFe

(4) 3irfaiferEss &

From following, the solid waste term

includes :

(1) hospital waste

(2) diagnostic procedure waste

(3) industrial waste

(4) garbage, rubbish, sewage
treatment residue, dead animals

fAeaf@a & & i a1 a9 e

g & A § ?

(1) 3rETdTer HET

(2) e ufsear smfase

(3) 3feafare 3RS

(4) FeRT, T, WasT ITIR 3@V,
qa 99

Street refuse is called as

(1) refuse that is collected from market

(2) refuse that is collected from street

(3) refuse that is collected from industries

(4) refuse that is collected from domestic

e Rogst &7 el SIiel &

(1) Roraet S ST & TohfAd fomam S
g

(2) Roger st &% ¥ THiIA fRam
iGN

(3) Rugsr o et & wwfAa R
ST B

(4) s st @ SR ¥ wEEE
forar amaT &



31. According to the jbiomedical concept,

32.

33.

the health has been viewed as

(1) equilibrium between man and
environment |

(2) influenced by |social, psychological,
cultural factors

(3) influenced by

‘ political factors

(4) absence of disease

SRATSHE IEURYM & 3TAR, FRT

T T H &WT IATE ¢

(1) #ersT AR gZierRor & & H He

2) wENfa®, FAAdMAE, HEpdR
FREA F gaTiad

(3) 3¥F IR Teefas SR @
gHTaT 1

(4) JH TR

According to the ecological concept, the

health has been viewed as

(1) equilibrium ‘between man and
environment |

(2) influenced by|social, psychological,
cultural factots

(3) influenced by
political factors

(4) absence of disease

TRTETYR HEURYT & 376N, &g

& TE ®T FH W AT §

(1) T R e & A

economic and

economic and

(2) aEfeE, FAEARE, S
FH O yerfad

@) e IR TENfdE HREN F
SENER

(4) Qe sEquieafa

Which of the following are the macro

nutrients?

(1) Vitamins, minerals

(2) Proteins, Carq)ohydrates and Fats

(3) Niacin, thymin

(4) Ascorbic acid, tryptophen

Pl & & #i7 ¥ goet oI deca & 2

(1) Rcfde, @ da

(2) Wdew, FEsge AR aar

(3) Trarf@e, yraser

(4) TEnfEE TRaE, Reethe

34.

35.

36.

The daily requirement of protein for an
Indian adult is

(1) 1.0g/protein/kg body weight
(2) 2.0g/protein/kg body weight
(3) 3.0g/protein/kg body weight
(4) 4.0g/protein/kg body weight
AT Faw f1 iR
MaRgehdl #1 & ?

(1) 1.0 FmA/MEA/ R R IR
(2) 2.0 I/ R TR $R
(3) 3.0 FrAMEA/ R TN AR
(8) 4.0 FAF/NEE/ T T AR

The essential fatty acids can be defined
as those which

(1) can be synthesized in the body
(2) cannot be synthesized in the body

(3) can be synthesized by cells of the
body

(4) can be synthesized by the lungs
aegs HE thas w aRenfva fear

EIGIRATC
(1) R & weofd forar o Hehel &

@) ¥R & wwofia & fear o
Fhel & |

(3) WR & FREFBT garr dvd
fam o AT § |

(4) 3 E@RT HRANT fRAT ST HeRdT
g

CPR stands for

(1) cardio pulmonary resuscitation
(2) chest pulmonary resuscitation
(3) cardio pulse resuscitation

(4) chin pulse resuscitation

CPR & X1 &1H 4T § ?

(1) =fEar geAe RafeaeeE
(2) o e Rafeaesrs

(3) s g RATEEeY




37.

38.

40.

(4) o= gew Rufae=

During CPR, chest compressions should
be delivered at the rate of at least

(1) 15/min (2) 50 /min

(3) 75/min (4) 100/min
CPR & ZRIe T FFva & &A 4
&7 g e o fear Ser wfge 2

(1) 15/@Fsc (2) 50/fF=Te

(3) 75/« (4) 100/fAeTE

During CPR, the chest should be pressed
down at least

(1) 5cm (2) 7cm

(3) 9cm (4) 11cm

CPR (@I.f1.3IR.) & SR BT & &A
T H fordar ga@™m = g ?

(1) 5% (2) 784

(3) 9w (4) 11 &

In tropical countries such as India, a
daily bath with soap and water is
essential, because the soap is a

(1) good surface cleansing agent

(2) good drying agent

(3) good moisturizing agent

(4) good alkalizing agent

HRT Y Iorhfeaely &9 # e 3R

e ¥ AT A HETAF ¢ difeh

e UH __ F |

(1) 37<0T Hdg dTell THE Teic

(2) o1 gES qTem Tsic

(3) 3r<oT AHERS Toic

(4) 3BT 3echalgd UoiC

The dirt which accumulates on the skin,

consists of solids left from

(1) soil and sweat

(2) soil and dead epithelial cells

(3) moisture and sweat

(4) evaporated sweat, bacteria and
dead epithelial cells

TOT R FHT g arell gt F S o

Ty § ar HATTGE |

(1) & 3R qdlEr

(2) &Er 3R FJa sumer FRIAHT

(3) 7 3R gdET

41.

42.

43.

(4) ardiha 9dier, Shawr AR FHd
3UFHAT HITRABIAT

All of the following are included in bio-

medical waste, except

(1) generated during the diagnosis,
treatment or immunisation of
human beings or animals

(2) in the production or testing of
biological or in health camps

(3) research activities on
beings or animals

(4) excreta generated by humans or
animals

efaf@a aeh &I sAfSHa mafse

F enfier forar /T 8, @9 T & ¢

(1) T A1 SR F g, 3TaR
AT RIEUT & SR 3cdeet

(2) Tareeg &ub # A1 SAfde qlaToT Ir
3caree H

(3) FTT A SAa] W IeTEuTe
afafafeat &

(4) T[T AT SFE EERT Iedewd
Helalel

human

In which of the following year the Bio-

medical Waste (Management and
Handling) Rules were amended in India?
(1) 1985 (2) 1990
(3) 1995 (4) 1998

@ # 4 fpg a¥ & sRa &
Ja-RfFcar Fau (Yeua AR gsfel)
st &1 gee fohar 3T ot ?
(1) 1985 (2) 1990
(3) 1995 (4) 1998

According to Bio-medical Waste
Management Rules, the combustion
efficiency of the incinerators shall be

(1) 96% (2) 97%

(3) 98% (4) 99%
Ja-Rfrcar Fo geya At &
ITAR, e T ST H a7
gisir arfau -




44.

45.

46.

47.

(1) 96% (2) 97%

(3) 98% (4) 99%

The process of destroying all life
including spores is called as

(1) Antiseptic (2) Deodorant
(3) Sterilization (4) Detergent
Ao Afed @Ol Shae # A
Tl T 9fshar &1 FET 1T ©

(1) véafces (2) TUERF
(3) RYemULATRIA (4) feeslee

Which of the following is an example of

precurrent (prophylactic) disinfection?

(1) Disinfection of urine and faeces

(2) Cleaning of room after death of
patient

(3) Airing and sunning of rooms

(4) Pasteurization of milk

Prefafad & & #= @ qdac

(QeTRER) HreoreitT HT UH 3ewoT § 2

(1) 5T 3R For FT PRI

(2) ANH HE F qE TR A A

(3) @onta gar MR o F T

(4) U IRERTGOANA

|

Which of the following is a type of
physical method of sterilization?

(1) Sunlight (2) Cresol emulsions
(3) Autoclaving (4) Cetrimide
mfaf@d & & &9 @ HorEeor &1

v sifaw fafer § 2
(1) ghuwerr  (2) shder I
(3) IE=FAder (4) wfgar=e

From following what is the function of
the Kidneys?

(1) Excretion of feces

(2) Excretion of Perspiration

(3) Formation of Prine

(4) Micturition

Prfaf@ad & @i ar & H FE?
(1) & 3caN

(2) T 3cH

48.

49.

50.

51.

52.

(3) o fveAor

(4) =T

In human body the glucose is stored in the
(1) Dliver (2) kidney

(3) stomach (4) heart

AT RN A Tofelsl gl FIBIA Bl & 2
(1) @a (2) e

(3) % (4) &

The most superficial layer of the skin is
called as

(1) dermis (2) epithelium

(3) epidermis (4) sweat glands
a1 T FEH HAG! G Pl Hgl ST §
(1) == (2) F9err

(3) ey (4) T IRAr

Which of the following factors of the
skin is protected by the harmful effects
of sunlight ?

(1) Sweat glands

(2) Melanin

(3) Sensory nerve endings

(4) Lymph vessels

AV & glieehReh JoTdl & &aT &
fRrafaf@d FR& § & @i a1 wifag
gl & ?

(1) wag Ifaar (2) FHafaa

(3) Hadrdfer 3id (4) @S I

The percentage of tribal population in
Haryana is

(1) 19.35% (2) 55.45%

(3) 26% (4) None of these
g & Seiefa Seaear gfaerd §
(1) 19.35% (2) 55.45%

(3) 26% (4) T E S A

Which one of the following state is not a
border State of Haryana ?

(1) Himachal Pradesh

(2) Uttar Pradesh

(3) Punjab

(4) Jammu & Kashmir

ot FiT T Tog g F A
T 5181 & ?




53.

54.

55.

56.

(1) RAmaTaer  (2) 3eaR 92T
3) daE (4) STFA-FRAR
At which holy place of Kurukshetra Lord

Krishna preached Arjun the preachings
pf Gita ?

1) Brahma Sarowar

2) Kamal Nabh Tirth

3) Prachi Tirth

4) Jyotisar Sarowar

FeelT & R 9feT TE W osEmarE
FOT & JHole H AT FoIUGA &=
qr ?

1) sed TWax

2) AT A

3) o

4) ST W

Where is Asia's biggest Cactus Garden
situated in the Haryana State ?

1) Panchkula (2) Kaithal

t3) Faridabad (4) Gurugram
e ew F URmT @1 ey WS
ey S Fel AT § 2

(1) dager (2) e

(3) wlemEe (4) ITEamH

‘il'he most important river of Haryana
State is
(1) Yamuna

(3) Saraswati

(2) Ghaggar
(4) Markanda

gRamoT T i T FgecaeT A &
(1) Zeg (2) =wER
(3) wXEaCT (4) ARSI

What was the capital of legendary
Emperor Agrasen ?

(1) Pehowa (2) Kalka

(3) Agroha (4) Naraktari
gRifore e 3R @ AT HleT
groar 2

57.

58.

59.

60.

(1) grar (2) =rerERr
(3) 3mmer (4) TP
Haryana became Kerosene-free on

with the supply of Kerosene
under the Public Distribution System has

been stopped in all districts.

(1) April1,2017 (2) June 2,2017
(3) July15,2017 (4) Augusté,2017
gRarom ¥ weh et #7
Adefes AaROT gomel & Aeddid
fR0f= & It W A e
foRIfaeT aeFd ot I

(1) 3de1,2017  (2) T2, 2017
(3) Sem$ 15,2017 (4) 3ET6, 2017

Who is Women and Child Development
Minister of Haryana ?

(1) Mrs. Kavita Jain

(2) Mr. Kamboj

(3) Nayab Singh Saini

(4) Manohar Lal

gRaonr & Afger g T fdea J:4r
HleT § 2

(1) A siaar sier

(2) A Fearer

(3) rue foE &

(4) HARI AT

The first census of Haryana as a
separate state was held in

(1) 1961 (2) 1951

(3) 1981 (4) 1971

QF Ao & T H gRAOT I Fr
YYH AU F 5 7

(1) 1961 (2) 1951

(3) 1981 (4) 1971

Where is the first Digidhan Fair of
country organised to promote cashless
transaction ?

(1) Gujarat (2) Haryana

(3) Punjab (4) Rajasthan
$AAY TioFe I FoaT ¢ & fAU
o1 1 wuH B Fom FE ASd
fraraarg ?




61.

62.

63.

64.

(1) IR (2) gRam™nw

(3) dgema (4) TSEg=
Which state is at first position in country
in Aadhar enrolment in 0-5 age category
as per UIDAI May, 2017 ?

(1) Punjab (2) Rajasthan

(3) Haryana (4) Uttar Pradesh
UIDAI 7, 2017 & 3[aN & ¥ 0-5
A g & IR Al H GIH T
Oy e AT IS & ?
(1) dome

(3) @Ramom

. was very famous classical singer
of Haryanvi dialect.

(1) Mika Singh (2) Baje Bhagat
(3) Parul Gulati (4) Yash Tonk
gREmodr aelr & e AT uiE

FelTEIRe IS &
(1) e e
(3) HTeT FTeIer

(2) woETeT
(4) 3R U

(2) o sweTd
(4) TwcH

Which one of the following is not a
comedian (belongs to Haryana) ?

(1) Johny Lever (2) Surinder Sharma
(3) Sunil Grover (4) Parvinder Singh
R &1 e # & Hla @
FrARTT 76 § ?

(1) STt slax (2) GReex 2@
(3) gfae e (4) Wiz g

Which of the following pair, regarding
IChief of the Army Staff (India), is
wrongly matched ?

(1) General J.J. Singh - 2000-2002

(2) General Deepak Kapoor - 2007-

2010

(3) General V.K. Singh - 2010-2012

(4) General Dalbir Singh Suhag -
2014-2016

ARG & T &H YHE & TEY A
e § & F41 9a Afea g 2

(1) SeRer .o f&g - 2000-2002

(2) SR &9ek HIT - 2007-2010

(3) oo dr&. &g - 2010-2012
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65.

66.

67.

68.

(4) el TR g Fewr - 2014-
2016
is an Indian social and political

activist and leader of Bhartiya Gau
Raksha Dal.

(1) Avtar Singh Bhadana

(2) Pawan Pandit

(3) Shusma Swaraj

(4) Piyush Goyal

Rd & Al TE  Aoeiifds
FEFA! dUT FRAF T W gl &
aicfedeha §

(1) 3@dR &g e

(2) uasrufaa

(3) | TS

(4) g stwrer

National Female Kabaddi team coach,
who is Dronacharya Awardee and
recipient of Padma Shri.

(1) Ramesh Kumar

(2) Sunil Dabas

(3) Anup Kumar

(4) None of these

T Afger Fasd A F P Gee
AU @S ¥ SAarer AT AR G
#W@Hgﬁr’e‘:

(1) TUHAR

(2) A e

(3) 3T FAN

(4) A 5

Ambala district of Haryana is in which
direction of Ghaggar river ?

(1) North (2) West

(3) South (4) East

g &1 e fSer @ ad &
forg feem #F 3afad § 2

(1) IR (2) ufegs

(3) afEor (4) &

Which one of the following was prime
centre of Harappan Civilization ?

(1) Sirsa (2) Panipat

(3) Hisar (4) Sonipat



69.

70.

71.

72.

FSOT THAAT &I 9T & & HleT a1 UF

HET Fog, AT 2

(1) R=ar (2) gaa

(3) RER (4) weiaa
Chaudhary Charan Singh Haryana
Agricultural University is in which
district of Haryana ?

§1) Kurukshetra (2) Ambala

(3) Hisar (4) Chandigarh
o F e S F el wmor RAE
g FY favafaearey & 2

{1) ERSIE (2) 3rFaTeT

(3) fewrm (4) dTvseTe

| in his book 'Kitab-ul-Hind'
referred to Kaithal as 'Kavital'.

(1) Al.Beruni (2) Ibn-Batuta
(3) Fahien (4) None of these

| A YA gEdh foRcTe-3el-
fere # %yer 1 FHfader Wafdid fhar
t |

il) A FHAT
(3) e
|

The village Assandh, is said to be the
capital of the Kingdom of Jarasandh,
lying in which district of Haryana ?

(1) Karnal (2) Sonipat

(3) Kurukshetra (4) Gurugram
ey g O SRy & Teg #
TSYRl ST S g, gRaen & fed
oer HE ?

(2) et aGT
(4) 7 PR T

(1) =T (2) @eEd

(3) Feam (4) I

A fair is held in Mandola in memory of
Baba Kesriaon _____ every year.

(1) 1% April (2) 31" December
(3) 1%September (4) Diwali
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73.

74,

75.

Hlom # &1 HARAT A ST T A

F ST 9fd av giar &
(1) 1 3ter &t (2) 31 femFsR &
3) 1R{aFR & (4) aerH

Who has been appointed as Lokayukta
of Haryana on April, 2016 ?

(1) N.K. Agrawal

(2) Preetam Pal

(3) Tripurari Sharan

(4) Manmohan Singh

e, 2016 & fRd gREmwm &
errgerd fagera fomam amam 2

(1) Usl.%. 33rdrel

(2) sires grer

(3) TR eror

(4) FereEs e

Find which is incorrect with reference to
Govt. of Haryana.

(1) Dept. of Architecture - Narbir Singh

(2) Dept. of Environment - Manohar
Lal Khattar

(3) Dept. of AYUSH - Anil Vij

(4) Allare incorrect.

AT WMHR F Ted 7 e &l @
el & ?

(1) aregehen f@smer - AR g

(2) TTaRoT FAHET - FHAlGTeel W
(3) 3w faemer - wfeer faer

(4) @l oo & |

Femina Miss India World 2017 Manushi
Chhillar belongs to which district of
Haryana ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) None of these
SfEer B SfEar aes 2017, &AW
Ricor gRamT ¥ g O & e
g



76.

77.

78.

79.

(1) F=rer

(2) fawan

(3) s

(4) s @ S el

Which IIT institute has successfully

developed an implantable bioartificial
pancreas ?

1) UT Guwahati  (2) IIT Bombay
(3) 1T Indore (4) 1T Delhi
B IIT §8< o UT&H SFcoecsd

TAFHA AR WHAAEH
fawfad fmarg 2

1) NT J[arerér (2) T s
(3) nTs=R (4) T Reeh

The highest point of India is

(1) Abu (2) Everest

(3) Kanchenjunga (4) Gurushikhar
IR 1 g Far R@y Fia ar § 2
(2) Tawe

(4) TRER

(1) 3
(3) FHeTaiam

Who has built Taj Mahal?

1) Akbar (2) Shah Jahan
3) Babar (4) Shivaji
ArSHEd fohdel SeTarT ?

1) 3FaT (2) <mgsTel
3) I (4) RaErer

The leader of the Champaran Satyagrah
was

1) Sardar Patel

(2) Jawaharlal Nehru

(3) Veer Savarkar

4) Gandhiji

HUNUT GATIE & AT dhiel & ?
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80.

81.

82,

83.

(1) EEerR9ea

(2) STaTEReTe Ag®

(3) IR I

(4) areie

Apple : Fruit:: (?)

Find the same relation.

(1) Monkey : Black

(2) Cucumber : Vegetable
(3) Flower:Tree

(4) Cream: Face

AT B : (?)
AT HE AT Y |

(1) e :ram (2) ©Rr:gssit
(3) wor:gEr (4) HF: g

Choose the odd one from the following :

(1) Mmilk (2) Juice
(3) Biscuit (4) Water
v &1 97w Fif9v

(1) & (2) sg@
(3) fafEepe (4) deir

If D=4, COVER=63, then RING=?

(1) 78 (2) 48
(3) 38 (4) 42
If& D = 4, COVER =63, d RING = ?
(1) 78 (2) 48
(3) 38 (4) 42

In a line of 29 students, Rohit stood at
17" position from left and Karan stood
at 17" position from right. How many
students would be there between Rohit
and Karan ?

(1) 8
(3) 6

(2) 5
(4) 9



84.

85.

86.

29 faciRdt &1 Far & IR I &
79 ®E W AR T & ¥ 179
B ) T, o AT AR e & a
# forcer faeardf gier 2

(1) 3 (2) 5

1_3) 6 (4) 9

The H.C.F. of two numbers is 23 and the

other two factors of their L.C.M. are 13
ﬁmd 14. The larger of the two numbers is :

(1) 276 (2) 299

(3) 322 (4) 345
et F Feead  WHYAAE

HCF) 23 § 3R 3@h oA

' ¥ @ U 13 IR 14§ |

@ﬁ AT g AT A g ?

1) 276 (2) 299

3) 322 (4) 345

n selling 17 balls at * 720, there is a
oss equal to the cost price of 5 balls.
he cost price of a ball is

1) '45 (2) “s50

3) 55 (4) “e60
17 gt @ 720 H 997 ¥ 53 & HY
e ST e glar § O T g
Tﬁ‘r HT HIAT FI1 gl 2

(1) " 45 (2) 50

3) '55 (4) *60

ight people are planning to share

equally the cost of a rental car. If one
erson withdraws from the
rrangement and the others share
equally the entire cost of the car, then
Fhe share of each of the remaining
ersons increased by

1)
2
mﬁaﬁwmﬁaﬁﬂamm

H dicar aga § | I

1
(2) 2

Ol d|-

(4) None of these
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87.

88.

89.

HEHT 9IS g¢ AT § AN deh & SR
& FHg el F glea § ar 9hH T
AT FURAF T H1ET T TG ?

1 1
(1) = 2) —

7 @) 8

1 . .
(3) 5 (4) STHY IS TG
The value of
0.1x0.1x0.1+0.2x0.2x0.2
0.2x0.2x0.2+0.4%x0.4x0.4
is
(1) 0.0125 (2) 0.125
(3) 0.25 (4) 05

0.1x0.1x0.1+0.2x0.2x0.2
0.2x0.2x0.2+0.4x0.4x0.4
& Hed T € ?
(1) 0.0125

(3) 0.25

(2) 0.125
(4) 05

During winter in cold countries, the
is mixed to melt the ice on
the icy roads.

(1) Ssalt

(2) Chlorine

(3) Carbon dioxide

(4) water

&8 gt & |fiEat & e affelr dsat
W g Rua= & fav
T Srar ¥

(1) =%

(2) FardeT

(3) e SrEEAES

(4) ST

In general, Comets have

orbits.
(1) Elliptical
(2) Highly elliptical




90.

91.

92.

93.

3) Circular

(4) Parabolic

FIAGIT YFhd T Fame

gl & |

1) 3UEEHER (2) fY 3EEER
(3) geeirr (4) TRaEfdE

Digestion of food is completed in the

1) small intestine

2) large intestine

3) stomach

4) liver

HYSTeT &7 el &gl o glelr & ?
1) B 3nd

2) 3
3) IHAR™
4) apd

Choose one option that expresses the
meaning of the sentence :

The act of violating the sanctity of the

church
1) Heresy (2) Desecration
3) Camouflage (4) Sacrilege

Choose one option that expresses the
most appropriate meaning for the idiom
out of four options :

Hammer and tongs

(1) white coloured

2) to be unsafe

(3) to break up

(4) with all one's strength

Fill in the blank with most appropriate
preposition :

milk.

(2) with

The jug is fill
(1) of

14

94.

95.

96.

97.

98.

99.

(3) in (4) upon

Fill in the blank with proper article :

She was wearing __old dress.
(1) a (2) an
(3) no article (4) the

Choose the pair of words that best

expresses a relationship similar to that
expressed in the pairs of words in
capital : JOY : ECSTACY

(1) like : dislike
(2) interest : fascinate
(3) information : privacy

(4) join: conjoin

T & o Sifel g | -

(1) %= (2) e
(3) 3maE (4) T

'ﬁﬁaﬁﬁwgmaémuwamﬁr

¥ fav 3R e &
(1) #=s (2) oS
(3) TaaT=w (4) Tu=

T d & i & adeh W § 2
(1) oS
(2) el
(3) oreria
(4) wrenf@a

STEAUT Teg HT AT ASE § ¢
(1) s, WRIER, 5y

(2) faerar, yemafa, il

(3) faw, sea, gfast




100.

l

4) TamE, o dn, A

‘Taemeer &1 e eeg §
1) ®ier (2) ogE™
3) df@cd (4) o
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